

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBD 3151H

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DEFORMED	797.00	797.00
1	FRONT BUMPER TOWING BRACKET	NOT NECESSARY	245.00	-
1	FRONT BUMPER REINFORCEMENT	BENT	776.60	576.00
2	FRONT BUMPER REINFORCEMENT BRACKET @\$121.70	O/S BENT	243.40	121.70
1	FRONT DOOR STEP GARNISH RH	CUT	128.30	128.30
1	SIDE MIRROR RH	MISSING	138.70	138.70
1	SIDE MIRROR STAND RH	BENT	368.80	368.80
1	SIDE MIRROR STAND COVER RH	MISSING	18.70	18.70
1	SIDE MIRROR TOP COVER GARNISH RH	MISSING	38.80	38.80
1	FRONT GRILLE	CRACKED	469.40	469.40
1	FRONT GRILLE LOGO	NECESSARY	58.50	58.50
1	FRONT PANEL	DENTED	1,770.60	1,412.70
1	FRONT PANEL EMBLEM 'CABSTAR'	NECESSARY	142.50	142.50
1	FRONT UPPER CORNER PANEL RH	TO REPAIR SEE LABOUR	480.70	-
1	FRONT CORNER PANEL RH	TO REPAIR SEE LABOUR	426.10	-
1	FRONT WIPER PANEL	TO REPAIR SEE LABOUR	553.60	-
2	FRONT WIPER ARM @\$138.70	NOT NECESSARY	277.40	-
1	FRONT WIPER HEAD C/W LINKAGE	NOT NECESSARY	387.10	-
1	FRONT WINDSCREEN GLASS	NOT NECESSARY	1,238.70	-
1	FRONT WINDSCREEN GLASS MOULDING	NECESSARY	158.50	158.50
2	HEAD LAMP @\$384.50	CRACKED	769.00	769.00
2	HEAD LAMP LOWER GARNISH @\$29.40	NOT NECESSARY	58.80	-
1	FRONT CABIN HINGE	NOT NECESSARY	1,863.40	-
2	HEATHER HOSE @\$97.50	NOT NECESSARY	195.00	-
1	AIR CON BLOWER	NOT NECESSARY	1,143.80	-
1	AIR CON COOLING COIL	NOT NECESSARY	1,326.70	-
1	AIR CON PIPE	NOT NECESSARY	579.10	-
2	GEAR SELECTOR CABLE @\$362.10	NOT NECESSARY	724.20	-
1	HAND BRAKE CABLE	СИТ	486.70	486.70

Report Ref No. CS/AWA20005920/Atf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	EGR COLLER PIPE (BIG)	NOT NECESSARY	521.50	-
1	EGR COLLER PIPE (SMALL)	BENT	387.30	387.30
1	CATALYTIC CONVENTER	NOT NECESSARY	2,752.70	-
2	CATALYTIC CONVENTER TOP INSULATION @\$82.10	NOT NECESSARY	164.20	-
2	ENGINE MOUNTING @\$268.90	NOT NECESSARY	537.80	-
1	GEAR BOX MOUNTING	NOT NECESSARY	293.10	-
1	FRONT CHASSIS MEMBER RH	NOT NECESSARY	2,993.10	-
2	SIDE GATE @\$2662.90	O/S DENTED	5,325.80	2,201.00
1	TAILGATE	DISTORTED	1,887.40	1,399.00
3	TAIL GATE HINGE @\$84.70	BENT	254.10	254.10
2	TAIL GATE SIDE LOCK @\$65.40	NOT NECESSARY	130.80	-
2	TAIL GATE STOPPER RUBBER @\$19.20	NOT NECESSARY	38.40	-
2	TAILGATE STOPPER BRACKET @\$194.70	NOT NECESSARY	389.40	-
2	TAILGATE SAFETY LOCK @\$67.40	NOT NECESSARY	134.80	-
2	TAIL LAMP @\$287.20	CRACKED	574.40	574.40
2	TAIL LAMP SUPPORT BRACKET @\$121.40	BENT	242.80	242.80
1	REAR NUMBER PLATE SUPPORT BRACKET	BENT	196.50	196.50
1	REAR NUMBER PLATE LAMP	NOT NECESSARY	82.00	-
1	CARGO BED FRONT PANEL INSULATOR	TORN	97.10	97.10
1	CARGO BED CHASSIS MEMBER RH	TO REPAIR SEE LABOUR	1,263.70	-
1	CARGO BED REAR STAND BRACKET RH	NOT NECESSARY	346.50	-
1	REAR SPARE TYRE REGULATOR GEAR	DAMAGED	356.70	356.70
1	REAR CHASSIS MEMBER RH	TO REPAIR SEE LABOUR	2,356.80	-
1	SET REAR CHASSIS END CROSS MEMBER	BENT	1,496.80	758.00
	LESS 10% DISCOUNT		-3,868.88	-1,215.22
			34,819.92	10,936.98
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	BENT	50.00	50.00
1	SET FRONT GRILLE CLIP (SN)	NECESSARY	30.00	30.00
1	FRONT PANEL SEALANT (SN)	NECESSARY	80.00	60.00
1	SET HEAD LAMP LOWER GARNISH CLIP (SN)	NOT NECESSARY	30.00	-

Report Ref No. CS/AWA20005920/Atf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET FRONT DOOR STEP GARNISH CLIP (SN)	NECESSARY	40.00	20.00
1	FRONT WINDSCREEN GLASS SEALANT (SN)	NECESSARY	80.00	40.00
1	FRONT WINDSCREEN GLASS INNER SEAL (SN)	NECESSARY	60.00	40.00
1	FRONT ERP BRACKET (SN)	NOT NECESSARY	60.00	-
1	REAR NUMBER PLATE (SN)	BENT	50.00	30.00
2	SIDE GATE COMPANY STICKER @\$650.00 (SN)	NECESSARY	1,300.00	480.00
1	TAIL GATE '70KM/H' STICKER (SN)	NECESSARY	40.00	15.00
1	TAIL GATE COMPANY STICKER (SN)	NECESSARY	480.00	200.00
1	REAR END PANEL SEALANT (SN)	NOT NECESSARY	80.00	-
1	REAR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	120.00	-
1	REAR CARGO BED (SPECIAL TYPE) (SN) (LOCAL REPAIR)	DENTED	8,000.00	700.00
1	REAR SPARE TYRE (BIG) (SN)	NOT NECESSARY	350.00	-
1	REAR SPARE TYRE (SMALL) (SN)	NOT NECESSARY	280.00	-
1	REVERSE SENSOR (SN)	DAMAGED	220.00	200.00
			11,350.00	1,865.00
	<u>LABOUR</u>			
	TO PANEL BEAT, WELD, CUT, ADJUST KNOCK. (FRONT). INCLUSIVE OF THE REPAIR OF FRONT UPPER CORNER PANEL RH, FRONT CORNER PANEL RH AND FRONT WIPER PANEL.		1,800.00	1,000.00
	TO PUTTY, SPRAY PAINT, POLISH WAX. (FRONT)		1,600.00	700.00
	TO SPRAY TUFF COAT. (FRONT)		280.00	60.00
	WIRING, BULB CHECKING. (FRONT)		150.00	30.00
	CONDUCT WATER TER LEAKAGE TEST. (FRONT)	NOT NECESSARY	150.00	-
	REMOVE AND REFIX CUSHION SEAT / UPHOLSTERY & ROOF LINING TO FACILITATE REPAIR. (FRONT)		350.00	60.00
	REFOCUS HEADLAMP BEAM. (FRONT)	NOT NECESSARY	60.00	-
	REMOVE AND REFIX AIRCON CONDENSER, AIR CON BLOWER, AIR CON COOLING COIL AND REFILL AIRCON GAS. (FRONT)		650.00	200.00
	REMOVE AND REFIX CATAYLIC CONVERTER. (FRONT)	NOT NECESSARY	480.00	-
	REMOVE AND REFIX EGR SYSTEM. (FRONT)	NOT NECESSARY	380.00	-
	RESET EGR SYSTEM. (FRONT)	NOT NECESSARY	120.00	-
	REMOVE AND REFIX CABIN. (FRONT)	NOT NECESSARY	1,000.00	-

Report Ref No. CS/AWA20005920/Atf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REMOVE AND REFIX FRONT WINDSCREEN. (FRONT)		120.00	120.00
	REMOVE AND REFIX AUDIO SYSTEM. (FRONT)	NOT NECESSARY	200.00	-
	REMOVE AND REFIX FRONT DASHBOARD. (FRONT)	NOT NECESSARY	850.00	-
	TO PANEL BEAT, WELD, CUT, ADJUST, KNOCK. (REAR). INCLUSIVE OF THE REPAIR OF CARGO BED CHASSIS MEMBER RH AND REAR CHASSIS MEMBER RH.		1,400.00	800.00
	TO PUTTY, SPRAY PAINT, POLISH WAX. (REAR)		1,400.00	1,300.00
	REMOVE AND REFIX REAR CROSS MEMBER AND REAR CHASSIS ALIGHMENT. (REAR)		450.00	400.00
	REMOVE AND REFIX REAR RAILING. (REAR)		380.00	100.00
	REMOVE AND REFIX CARGO BED. (REAR)		1,200.00	500.00
	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING. (REAR)		80.00	50.00
			13,100.00	5,320.00
	GRAND TOTAL		59,269.92	18,121.98
	RECOMMENDED COST OF LUMP SUM REPAIRS			14,500.00

Report Ref No. CS/AWA20005920/Atf3e2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

(TO ITS PRE-ACCIDENT CONDITION)

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.